19

24




1,000




€Y)

€Y)

€Y)

(3

€))

(3

(2)




34.3% 84.5%

59.6%

62.0%

18.0% 51.7%

40.2%
1,027
[ ]
16 3 0.3
14 3 0.3
2 0
[
172,173
90,528
20,891
24,150
14,070
29 922

202,095

1,818




SERE 1 8 S BERTE N M B OSFERMS =T T HAR — 3

KRR
W4 N e
X 5 184 2 A 4 A 5 A 6 A 7 A 8 A 9 A 10 A 1 A 12 A |[1E1A | 2 A 3 A
sl m106m AEJ:}* 6f,___28%| 8] 22% 274 Bk 174 Jk
1 $kag~17 k2326 Hho~16
m|l m107m 18%~21% 124 22% 278 224 | 9% 84 141 169
th23~26 238 ¥R 10~13
sl w1aom [Pz 12§ 288 83 23
k297
ol m147m 18%~214 12x 224 270 20
R 23~26
W W148m 174208 Top pob k| 168
$k10~13
B - H2E% 3f~6k 124 X
w19 W « WOt s B
5| maRR 1o S
e A
# 8 8 M 184~214 54 i
3| imrH =z =
| ® 8 9 W 18%~214 5% 284
P
BERETT <
w7 2M 169~18% 245 4
B oy = — )
:!; w7 1M %t 284 8% 17X 44
BB =—A « B8 B & . (k916
BFESFTH 2 75 1420k 16%_264
e .)fﬂnvxvzx 124 28%| B8R 22k

207




NBC

NBC

13




@

&)

®




18 ' 19
13 14 4 ko 7] 14 9 [lia 22| it 15 10 2 | B
49 50 -
37 37 38 3 4 37 —
32 54 ! 53 ! . 48 -
% 24 2 || a ]
67
24 2818 18 |23 13 4 22 13 24 15 2 2 14 2
. 79 80 80 - 3
2
- - - 38 37 37 5 a
® 51 57 60 56 58 10 -
35
13 14 1 22 13 | |19 7 16 9
5 11 55 12 81
38 34 34 38
48 48 48 48 58
12 5|0 6| 4 29 23 = = 6] [= 5 15 10| 9| 28|ff 15
65 ) ' 66 5
i 70 1 _ 5 _
a4 5 : 2 5 71_
5 44 i AU
26 23 ; 12 19
26 ' 44 38 82 48










@

€)




ICT



4 5 6 7 8 9 10 11 12 1 2 3
4 ()
]
27 ()
21()|:|25()
4()I:IE()
11()|:|15(
: *EEE-
f
17 18 19 1 6 (
17 8 1 () 26 () 1 () I:I
1 ()
2 ()
(13)|:|z7()
19<)|:|23 )
16()|:|20 )
() = Of, |
29()[]2() 2(>|:|6() 4()I:IB()
1 ()
5()I:Ig() |:|15()
29()[]2()
22()|:|26() 27()[]1<)
1()|:| O 19”[]2()
23
s () 4()|:| ) 15()['16()
|:|19() 5 (
22()|:|26()
1s(>|:|26()
19()|:|22<)
STCW

25 ()D

29 ()
5(|:|
9 ()
25()|:|
29 ()
25<)|:|
29 ()
27()[]
1)
14

)
I:Im()

18






